Total No. of Questions : 5] SEAT No. :

P732

[Total No. of Pages : 2
[S158]Ext. - 101

F.Y. B.Com.
COMPULSORY ENGLISH (External)
(2013 Pattern)

Textbook : A Pathway to success
Edited by : Ashok Chaskar
Anand Kulkarni

Vijay Madge

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :-

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any one from (A) and one from (B) in about 150 words each :[20]

A) i)
ii)
B) 1)
ii)

How did Kalam's parents and teachers play a significant role in
shaping his personality?

What are the methods of water conservation and utilization
according to C.V. Raman?

How has advertising degraded art according to Heman work?

Describe Datta's plan of action to repair the damage that had
occurred.

02) Attempt any one from (A) and one from (B) in about 150 words each :[20]

A) i)
ii)
B) 1
ii)

Attempt a character sketch of Ivan Dmitritch.
How does the poet Derozio aknowledge the past poets of India?
What is money - madness according to D.H. Lawrence?

Vishal meets Vikrant at a shopping mall. The two greet each other
and exchange a few words before taking leave. Write a dialogue
in ten lines.
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03) Attempt any one from (A) and one from (B) in about 150 words each :[20]

A)

B)

i)

ii)

i)

ii)

How did Indra Nooyi maintain a balance between her personal
and professional responsibilities?

Why does Narayana Murthy appeal the students to pursue
excellence?

What is the situation regarding English in India as depicted in the
essay "To asted English'?

What prospects has globalization driven by technology brought
to India according to Murthy?

04) Attempt any one from (A) and one from (B) in about 150 words each :[20]

A)

B)

05) A)

B)

1)  Attempt a character sketch of Gopalam.

i)  Why did Mr. Varma misunderstand the devotion of his son?

1)  How does Sarojini Naidu project a positive view of life in "The
Soul's Prayer'?

ii) Comment on the central idea of the poem 'Stopping by Woods
on a Snowy Evening'.

Attempt any one of the following in about 150 words : [10]

1)  Write a letter to your younger sister congratulating her on getting
selected as media reporter with zee News.

ii) Write a brief newspaper report of two short paragraphs on the
following headline :
Digital Transactions : Need of the hour.

Attempt any one of the following in about 150 words : [10]
1)  There is a vacancy in Birla and Sons Finance Ltd. Bangalore for
the post of Finance officer. Write your resume for the same.

11)  Write an email letter to the Times News at the email address

editor @timesnews.com informing him about the problem in
cashless transactions due to poor connectivity.

Cledos
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Instructions to the candidates :-

1)
2)
3)

1) A)

All questions are compulsory.

Figures to the right indicate full marks.

Use of calculator is allowed.

State whether the following statements are “True’ or ‘False’. (Any Seven) [7]

)

ii)

iii)

1v)

Vi)

Vii)

Dissolution of the firm means the dissolution of the partnership
between all the partners of the firm.

The main function of Accounting Standard Board is to formulate
accounting policies.

Accumulated losses of amalgamating firms are transferred to new
firm’s account.

Partner’s loan is transferred to the Realisation Account with other
liabilities of the firm.

Excess of minimum rent over the amount of actual royalty is a
short working.

Under Instalment System the buyer is responsible for risk of loss
of goods.

Departmental Accounts are prepared with a view to ascertain the
department wise performance.

viii) The main objective of accounting standards is to harmonize the

1X)

diverse accounting policies and practices at present in use.

Maximum loss is distributed amongst all the partners in their capital
ratio.
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B) Fill in the blanks from the brackets. (Any Seven) [7]
1)  Property tax payable is an example of liability of the dissolving firm.
(contingent; preferential; internal)

i) The Institute of Chartered Accountants of India, constituted an
Accounting Standards Board on

(1**April, 1977; 21* April, 1977; 21* April, 1975)

ii1)) In case of insolvency of a partner, any sum received from his
private estate is to his capital Account.

(debited, credited)
1v) The lessee's right to recoup short workings relates to
(first three years; terms of the agreement; subsequent two years)

v) In absence of an agreement, shares received from limited company
as a purchase consideration, are distributed amongst the partners
in their ratio.

(profit sharing, original capital ratio, final claim)

vi) Under Instalment System, the amount of total interest is transferred
to Account.

(Interest; Interest suspense, Profit and Loss)

vii) Canteen expenses are apportioned to departments on the basis of

(direct wages; number of employees; sales)

viii) Partner’s Capital Account is debited with of an asset
taken over by him.

(book value; agreed value; market value)

ix) The basic objective of amalgamation of partnership firm is to

(increase the number of partners; maximize profit; increase the
stock)

[5158]Ext.-102 2



C) Write short notes on: (Any Two)

1)  Need of Accounting Standards.

i1)  Surplus Capital Method.

ii1) Objectives of amalgamation of partnership firms.

iv) Features of Instalment purchase system.

02) Ramesh, Mahesh and Naresh were partners in a firm sharing profits and
losses in the ratio of 3: 2: 1 respectively. The partnership was dissolved on
31 March, 2016. The Balance Sheet on that date before adjusting loss of

[16]

the year, showed the following position: [20]
Balance Sheet as on 31% March, 2016
Liabilities T Assets T
Sundry Creditors 6,00,000 [Buildings 5,30,000
Outstanding wages 30,000 [Machinery 2,00,000
Ramesh’s Loan 80,000 |Stock 1,64,000
Mahesh’s Loan 40,000 [Debtors 3,74,000
Capital Accounts: 7,50,000 [Furniture 40,000
Ramesh 4,10,000 Bank 12,000
Mahesh 3,00,000 Profit & Loss (2015-2016) | 1,80,000
Naresh 40,000 15,00,000 15,00,000

It was decided that the net realizations should be distributed at the end
of each month in appropriate order. The realizations and expenses were as

under:

Month Assets Cash Realised(¥) Expenses(¥)
April, 2016 Buildings 4,70,000 8,000
May, 2016 | Machinery & Stock 2,12,000 12,000
June, 2016 Debtors 3,60,000 | -
July, 2016 Furniture 26,000 2,000

Sundry Creditors were paid at a discount of ¥ 16,000. ‘Naresh’ became
bankrupt and only ¥ 3,000 could be recovered from his private estate.

Prepare a statement showing distribution of cash under Maximum Loss
Method. Apply rules of Garner Vs Murray’s case.
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OR
Ganesh and Vinayak were partners sharing profits and losses in the ratio of 3:1
respectively. Their Balance Sheet as on 31% March, 2016 was as follows: [20]
Balance Sheet as on 31% March, 2016.

Liabilities T Assets gz
Creditors 4.00,000 Fixed Assets 10,00,000
Bills Payable 80,000 Loose Tools 80,000
Ganesh’s Loan 1,20,000 Bills Receivable 1,60,000
Liability for Repairs 80,000 Stock 3,00,000
Revenue Profit 1,60,000 Debtors 2,80,000 2,40,000
Capital Accounts: 9,80,000 Less: R.D.D. 40,000
Ganesh  6,40,000 Cash in hand 40,000
Vinayak 3,40,000

18,20,000 18,20,000

The partnership was converted into a Limited Company as on above date,
subject to following adjustments:

1) Fixed Assets include a Motor Car of ¥ 1,60,000.

i1) The company agreed to take over other Fixed Assets at ¥ 10,40,000,
Stock at ¥ 2,80,000 and Debtors at ¥ 2,60,000. The company also
agreed to pay Creditors and Bills Payable at 10% discount.

iii) Motor Car was sold by the firm for ¥ 2,00,000.

iv) Bills Receivable were taken over by Ganesh for ¥1,40,000; whereas
Vinayak took the Loose Tools for ¥60,000.

v) Ganesh’s Loan and the Liability for Repairs were paid in full by the
partnership firm.

vi) Realisation expenses amounted to ¥ 48,000.

vii) Goodwill was valued at 3 years purchases of the average profits of the
last 4 years. The profit figures were as follows:
2012-13 : T 80,000 (Profit) 2013-14: ¥ 1,60,000 (Profit)
2014-15 : ¥ 40,000 (Loss) 2015-16 : T 2,80,000 (Profit)

viil) The purchase consideration was discharged by issuing ¥ 1,50,000 equity
shares of ¥ 10 each at ¥ 8 per share and balance in cash.

ix) [Equity Shares received from the Limited Company were to be shared
by the partners in their profit sharing ratio.
Prepare:
(1) Realisation Account, (2) Partner’s Capital Accounts, (3) Limited
Company Account, (4) Equity Shares Account and (5) Cash Account
in the books of the partnership firm.
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03) A)

A and B were partners in the firm ‘Success Enterprises’ sharing profits and
losses equally and C and D were partners of the firm ‘“Winner Associates’
sharing profits and losses in the ratio of 3:2 respectively. Following were

the Balance Sheets of the firms as on 31 March, 2016.
Balance Sheets as on 31 March, 2016.

[10]

Liabilities

Success
Enterprises
?

Winner
Associates
?

Assets

Success
Enterprises
?

Winner
Associates
?

Capital A/cs:

A

B

C

D
Creditors
Bank Overdraft

2,00,000
2,00,000

2,00,000
30,000

2,40,000
1,60,000
1,30,000

50,000

6,30,000

5,80,000

Buildings
Furniture
Book Debts
Stock

Cash

3,00,000
60,000
1,50,000
90,000
30,000

2,50,000
80,000
1,80,000
40,000
30,000

6,30,000

5,80,000

B)

The two firms decided to amalgamate their business from 1% April,
2016 and to form a new firm by the name ‘Victor Traders’. It was
agreed that:

i)  Bank Overdraft of Success Enterprises to be taken over by Mr. A

and of Winner Associate by Mr. D.

ii)  Buildings of both the firms are to be revalued by increasing the
value by 10%.

Value of Furniture of both the firms is to be reduced by 10%.
Goodwill of Success Enterprises and Winner Associates was fixed
at ¥80,000 and ¥1,00,000 respectively.

v) Value of Stock of both the firms is to be reduced by 5%.

vi) A provision of 5% is to be created for doubtful debts of both the firms.
You are required to prepare Revaluation Account and Partner’s Capital
Accounts in the books of each old firm.

Mr. Diwanji wrote a book on Accountancy and got it published with
Sahyadri Publishers on 01/04/2011 on the terms that royalties will be
paid at ¥25 per copy sold subject to a minimum rent of ¥ 1,20,000
p.a. with a right to recover the short workings over the first three years
of the royalty agreement. The information regarding the first five years

i)
1v)

of the agreement is as follows: [20]
Year No. of Copies Printed No. of Copies in Closing Stock
2011-12 3,200 200
2012-13 3,900 100
2013-14 5,200 300
2014-15 6,100 400
2015-16 4,100 500

Pass the necessary Journal Entries in the books of Sahyadri Publishers
for above five years.
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Q4) On 1* April, 2011 Varun Travels purchased a bus from Yahs Motors (Pvt)
Ltd. on hire purchase system. The cash price of the bus was ¥ 22,50,000.
Varun Travels paid ¥ 3,00,000 on signing the contract and agreed to pay
the remaining balance in five instalments of ¥4,50,000 each payable
annually on 31* March. Yahs Motors (Pvt) Ltd. charged interest 5% p.a. on
yearly balances. Varun Travels decided to provide depreciation @ 15% on
reducing balance method.

Prepare the ‘Bus Account’ and ‘Yahs Motors (Pvt) Ltd. Account’ in
the books of Varun Travels and 'Varun Travels Account’ in the books of
Yash Motors (Pvt) Ltd. calculation of interest should form a part of answer
and be made in multiple of ¥ 10. [20]

OR
From the following Trial Balance as on 31/03/2016 of Sunrise Departmental
Stores, Pune, prepare Departmental Trading Account, Profit and Loss Account
for the year ended 31** March, 2016 and a Balance Sheet as on that date.[20]
Trial Balance as on 31/03/2016

Particulars Dr. (%) Cr.(¥%)
Stock on 1/4/2012 « Dept A 3,00,000
* Dept B 2,40,000
Purchases : * Dept A 5,60,000
* Dept B 4,80,000
Sales: * Dept A 12,00,000
* Dept B 10,00,000
Wages : e Dept A 1,50,000
* Dept B 50,000
Rent, Rates, Taxes and Insurance 1,80,000
Sundry Expenses 60,000
Salaries 60,000
Lighting and Heating 36,000
Discount Allowed 44,000
Discount Received 26,000
Advertising 72,000
Carriage Inward 42,000
Furniture 60,000
Machinery 4,00,000
Debtors 1,20,000
Creditors 3,20,000
Capital 6,18,000
Drawings Account 80,000
Cash at Bank 2,00,000
Cash in hand 30,000
Total 31,64,000 31,64,000
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The following information is also available:
1)  Dept A transferred goods to Dept B of ¥8,000.

i1) Rent, Rates, Taxes and Insurance, Sundry Expenses, Lighting and
Heating, Salaries and Carriage Inwards are to be apportioned 2/3 to
Dept A and 1/3 to Dept B.

1i1) Advertising to be apportioned equally.

1v) Discount Allowed and Discount Received are to be apportioned on the
basis of departmental sales and purchases. (excluding transfers)

v) Depreciation @10% p.a. on Furniture and Machinery is to be charged
3/4 to Dept A and 1/4 Dept B.

vi) Stock as on 31/3/2016: Dept A-¥ 3,30,000 and Dept B-¥2,40,000.

oo

[5158]Ext.-102 7



Total No. of Questions : 8] SEAT No. :

P734 [Total No. of Pages : 2
[S158]Ext. - 103

F.Y. B.Com. (External)
BUSINESS ECONOMICS (Micro)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  Question No. 1 is compulsory.
2) Attempt any five from question No. 2 to 8.
3)  Figures to the right indicate full marks.

4) Draw neat diagrams wherever necessary.

Q1) Explain in detail the Nature and scope of Business Economics. [20]
02) Explain the Methods of Demand Forecasting. [16]
03) Explain the Internal and External Economics of Large Scale Production.[16]

04) Explain in detail the concept of Total Revenue, Average Revenue and Marginal

Revenue. [16]
035) What is Monopolistic Competition? Explain the Equilibrium of a Firm under
Monopolistic competition. [16]
Q6) Answer in brief: [16]

a) Explain the characteristics of Indifference curves.
b) Explain the Features of Perfect competition.
Q7) Explain the Loanable Funds Theory of Interest. [16]
08) Write short notes : [16]
a) Collective Bargaining

b) Innovation Theory of Profit.

ForPoo e



Total No. of Questions : 8]

P734 [5158]Ext. - 103
FY. B.Com. (External)
BUSINESS ECONOMICS (Micro)
(2013 Pattern)
(TSt TUTR)
ge : 3 ard] [ o 7or : 100

gear .~ 1) 99 9igerr dfAard g,

2) U7 @HHTE 2 7 8 ATdh! FH1UIAg! GTe T9T Tigal.
3) IwFIHSIT ek Ty QU T FIEana.

4) TFIIHAT AT A4 GAF HTHAT FHET.

5) @gulars? gw 371 99T TfAHT ugTEl.

797 2)
797 3)
o7 4)

797 5)

STAETIR AAVTET TEET T SATH Al TIE . [20]
HTTUTea Ud STETSTeat Uged TIg . [16]
HISAT THTUTTERI IcATSAT=AT 3Taid o aTel dedl T8 . [16]

TERUT WTHT, TE TTHT SHATIUT TG ITH AT HehodAT Aiaede T &, [16]

ThEIIgTh TILT TgUTN 1T ? AThgRIgTh TUSdicl el Heg<l aHard T
. [16]

rgFTd I forem: [16]
37) FHITT TehTAT ATICSA TUY .
)  gut Tl Afvrer wE W,

ST TS Yl fHgema T8 &. [16]
Zrur ferar. [16]
) WTfEeh HigRhl

) AEITET AauEdd g

Forioo e

2



Total No. of Questions : 7] SEAT No. :

P735

Time : 3 Hours]

[Total No. of Pages : 5
[S158]Ext. - 104

F.Y. B.Com.
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(2013 Pattern)

[Max. Marks : 100

Instructions to the candidates :-

1)
2)
3)
4)

01) A)

All questions are compulsory.

Figures to the right indicate full marks.

Use of statistical tables and calculator is allowed.

Both the section should be written in same answer book.

SECTION-I

Answer the following multiple choice questions by selecting correct
options from the given Option (Any four) [4]
a) The LCM of 12 and 15 is .

i) 20 i) 40

i) 60 iv) None of the above
b) The LCM of two prime number is

1)  Addition of that two numbers

i)  Subtraction of that two numbers

ii1) Product of that two numbers

iv) None of the above
c) If3*=32x3%then X =

i) 6 i) 3

i) 5 iv) 2
d) The value of 3 + 3! ig :

) 1 i) -1

i) 1/3 iv) —-1/3
e) There are 45 girls in a class of 60 students, means percentage of

boys is :
i) 15 i) 25
i) 30 iv) None of the above

PTO.



f)

15:27::x:45 then the value of x is

1) 25 i) 30
iii) 35 iv) 40
B) Answer the following multiple choice questions by selecting correct
options from the given Option (Any three) [6]
a) Two numbers are in the ratio 3:5 and their sum is 232. Then that
two numbers are:
i) 145, 87 i) 32,200
i) 45, 187 iv) None of the above

b) The HCF of 92 and 72 is:
1) 36 i) 24
1) 48 iv) None of the above

c¢) Population of a city in a specific year was 80,000. There was rise
of 10% for each of the next 3 years. The population at the end of
3 year is )
1) 1,10,400 i) 1,2,509
iii) 1,06,480 iv) 1,20,502

d) A salesman gets 5% commission in his sales. If he gets a
commission of Rs.870 in a month . Then the salesman sales in
that month is:
1) 17,400 i) 17,600
i) 17,800 iv) None of the above

02) Attempt any two of the following : [10]

a) Explain the term Stock Exchange.

b) What sum of money will amount to Rs.43, 200 at 5% p.a. simple
interest for 5 years?

c) What is the EMI of a loan of Rs. 1,00,000 is repaid in 5 years. If the
rate of interest is 10 % p.a. on the outstanding amount at the beginning
of each year?

03) Attempt any four of the following : [20]

a)  What is Statistics? Explain the limitations of Statistics.

b) State merits and demerits of arithmetic mean.
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c¢) Calculate the median for the following grouped frequency distribution.
Marks 0-20 20-40 | 40-60 | 60-80 | 80-100
No. of Students 18 26 10 4 2

d) Following is the frequency distribution of number of students according
to the marks scored in a certain examinations :

Marks Below 20 20-39 40-59 60-79 |Above 80
No. of Students 5 8 12 15 6
Answer the following questions :

1)  State the type of classification

11)  State the open end classes

ii1) Class- width of third class

iv) Class-boundaries of second class

v) Number of students having marks greater than 59

e) From the following frequency distribution find the mode graphically:
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency| 7 8 10 8 6 3

f)  Calculate mean and median for the following data:
12,10,8,10,6,11,9

SECTION-II
04) Attempt any three of the following: [15]

a) Aashutosh sold a car to Mohanish at 15% profit. Mohanish sold the car
to Maruti at 5% less for 43,700. Find the price at which Aashutosh has
purchased the car?

b) A commission agent gets 12% commission upto a sale of Rs.35,000/
and 15% on the sales exceeding Rs.35,000/. In a month, his sales are
Rs.75,000/. Find his commission?

c¢) Explain the terms:

1)  Cost Price

i1) Selling Price
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d) Solve the following Linear Programming Problem (L.P.P) by graphical

method:

Maximise Z = 3X +5Y

Subject to conditions
2X +3Y < 12
3X+2Y < 18
XY>0

e) Explain the term :
1)  Feasible region
i1) Unbounded Solution
05) Attempt any three of the following: [15]

a) Explain commission and brokerage.

b) Distinguish between simple interest and compound interest.

c) A scooter costing Rs. 12,000/ was sold for Rs.10, 400/ after two years.
Find the percentage of loss?

d) A and B are two types of fertilizers available at Rs.30 per Kg and Rs.5
per Kg respectively. Fertilizer A contains 20 units of potash, 10 units
of nitrogen and 40 units of phosphorous. Fertilizer B contains 15 unit
if potash, 20 units of nitrogen and 10 units of phosphorous. The
requirements of potash, nitrogen and phosphorous is atleast 1800, 1700,
1600 units. Formulate the above problem as LPP in order to minimize
the purchasing cost.

e) Which is the better investment,12% at Rs.108 and 10% at Rs.120?

06) Attempt any four of the following: [20]

a) What is Index Number? Explain problems in the construction Index
Number.

b) Calculate Standard Deviation for the following data:

12, 18, 15,2,16
c) State the properties of regression coefficients.
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d)

e) Find combined standard deviation from the following data :
Workers Number Average salary Standard Deviation
Male 80 1520 6
Female 20 1420 5

Ranks obtained by six students in statistics and Accountancy are given

below :
Ranks in Statistics 5161 4| 3] 2 1
Ranks in Accountancy | 6 | 2 41 31| 5

Calculate Spearman Rank Correlation Coefficient.

f)  Calculate Lasperys, Paasches and Fishers Price Index Number from the
information given below:

Commodity Base Year Current Year
Price Quantity | Price | Quantity
Cheese 18 2 24 25
Bread 12 30 19 15
Egg 20 15 30 15
Milk 10 30 19 25

Q7) Attempt any one of the following : [10]
a) Calculate Karl Pearsons Correlation Coefficient for the following data :
Price 14 16|20 21| 24 |15|18
20 (2522 24| 19|18 |13
Given : X =80, Y =50, 0cx = 15,0y =10 and r = — 0.4

Find the line of regression of X on Y, Also estimate X when Y = 60.

Demand

b) 1)

ii)) Draw the Histogram from the following grouped frequency

distribution.
Marks |0-20 20-40 | 40-60 | 60-80 | 80-100
No. of |5 12 20 18 10
Students

Cledos
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COMPUTER CONCEPTS AND APPLICATION
Computer Fundamental
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Instructions to the candidates :

1)  Question No. 1 is compulsory.
2)  Solve any five questions from Q.No. 2 to Q.No. 8.
3)  Figures to the right indicate full marks.

Q1) Attempt any 4 of following : [4 x 5 =20]
a) Explain HTML <Table> related tag.
b)  Explain application software with example.
¢) What are the different components used in MS-Excel?
d) Explain any two types of printers in detail.
e) Explain secure electronic transaction

f)  Differentiate between ROM and RAM.

02) Attempt any 4 of following : [4 x 4 =16]
a) Define Taskbar, Searchbox, Dialog box, Scrollbar.
b) What are the features of free and open source software?
c) State any four categories of E-commerce.
d) Explain HTML tags used for text formatting.
e) What are the characteristics of computer?

f)  Explain world wide web.

PT.O.



03) Attempt any four of following:

a)
b)
c)
d)
€)
f)

Write the steps to build website.

Explain electronic payment system.

Write note on : LCD, MICR.

Explain digital signature and digital certificate.
State uses of powerpoint.

Describe web development model

04) Attempt any four of following :

a)
b)
C)
d)
e)
f)

Explain functions of operating system
Write note on : LAN, MAN.

What is the structure of HTML Document?
Explain need of internet security.

State any four application in windows.

Write note on : Electronic fund transfer.

05) Attempt any four of following :

a)
b)
C)
d)
e)
f)

What are the ethical issues related to internet?

Explain use of computer in Banking and administration
What are the types of file organization

State any four types of Network topology.

Define EDI. Explain any three benefits of EDI.

Define client, server, upload, download.
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06) Attempt any four of following : [4 x 4 = 16]
a) Explain working of Hard disk with diagram.
b)  Write note on : E-Governance.
c) State advantages and disadvantages of MS-Word.
d) What are the HTML tags required to display list.
e) Explain any two input devices.

f)  Define terms : integrity, confidentiality in internet security.

Q7) Attempt any four of following : [4 x 4 = 16]
a) What are the components required for computer network?
b)  Write note on : Recycle Bin, Windows Explorer.
c) Define computer virus. Explain three types of it.
d) Explain client-server technology
e) State advantages and disadvantages of E-commerce.

f)  Define terms : page size, page type, page margin, entrance page.

08) Attempt any four of following : [4 x 4 = 16]
a) Explain different types of Web Browser.
b) Explain any four types of computer by their speed.
c) State advantages and dis-advantages of E-Marketing
d) Define Search Engine. State three types of it.
e) Write note on cyber law

f)  What are the benefits of Wireless Network?

SISIS
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97 3) UEicTUehl hIVTAE! TR U9 |l [4 x 4 = 16]
A) Website sAfwamEE Ao UrEdl forgt.
) Electronic Payment System ¥ .
%) feu foer: LCD, MICR.
g) Digital Signature 3mfut Digital Certificate Tae 1.
3) Powerpoint @ U= T .

%) Web Development Model ¥ 1.

97 4) UEicTUehl hIVTAE! TR U9 HiEal. [4 x 4 = 16]
a1) Operating System = T TIEE .
a) fufm: LAN, WAN.
&%) HTML Document ¥ structure @
g) Internet Security =it TR TUeE .
3) Windows @ @iurdgl R Application &rm.

w) fu fer@r : Electronic Fund Transfer

97 5) UEITUhl ShIvTaE UR U9 Hiea. [4 x 4 = 16]
HA) Internet 3 @afed Ethical Issues ferat.
9) Computer = Banking 3ot administration AefieT UANT TS .

%) File organization o YR @I,

[5158]Ext.-105 s



g) Network Topology @ IUTdEl TR JehR AR,
3) EDI =it &1 forg @@= SivTgt i SuEiT e .

w) @ foran : Client, Server, Upload, Download.

97 6) UECTUehl hIVTAE! TR U9 |l [4 x 4 = 16]
31) Hard-Disk = S 3Tehdl ShigH T 4.
9) fufe@r: E-Governance
&®) MS-Word = w=e = e e,
g) List Display suammét @mom HTML tags @rm.
3) @l g Input devices FIs &I

w) @ forat : Integrity, confidentiality in Internet security

g7 7) ULITUehl ShIvTaE UR U9 Hiea. [4 x 4 = 16]
a1) Computer network ®St RV component @AM,

7) feu foran : Recycle Bin, windows explorer.
%) Computer virus =t #71 {7 = TV T THR Tee .

g) Client-server technology ¥a 1.
%) E-Commerce = W& 9 di¢ TI &,

W) @ fote : page size, page type, page margin, entrance page.

[5158]Ext.-105 6



797 8) UEIcTUehl hIVTAE! TR U9 |l [4 x 4 = 16]
) Web Browser = fafaer yer wuse .

&) Speed FER Computer o VA& TR TR TIE .
*) E-Marketing = w&e & die 9

g) Search Engine =it |51 fotgn et wehr ferat.

3) Cyber Law = &u foran.

w) Wireless Network = %R ferar.

SISIS
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Total No. of Questions : 8] SEAT No. :

P737 [Total No. of Pages : 2

[5158]Ext.-106
F.Y. B.Com.
OFFICE MANAGEMENT
Organisational Skill Development

(2013 Pattern) (Optional)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1)  Question No. 1 is compulsory.
2)  Answer any five questions from question No. 2 to 8.
3)  Figures to the right indicate full marks.

Q1) State the meaning of modern office. Explain the various functions of modern
office. [20]

02 ) Define office organisation. Explain various types of organisation. [16]

03) State the importance of time management. Explain the time management
techniques. [16]

Q4 ) Define office form. Explain advantages and disadvantages of electronic-forms.
[16]

05) What do you mean by records Management? Explain importance and principles
of records mangement. [16]

06) Define communication. Explain significance and barriers to effective
communication. [16]

Q7) State the scope of public Relation. Explain the role of public relation officer in
modern office. [16]

08) Write short notes [16]
a) Computerization of office activities in modern office.

b) Accounting packages
SISIS



Total No. of Questions : 8]

P737
[5158]Ext.-106
F.Y. B.Com.
OFFICE MANAGEMENT
Organisational Skill Development
(2013 Pattern) (Optional)
(A3 ®aTaR)
g : 3 am] [Tor Ut - 100
geEar ;- 1) wwas. 1 siHar simg. 999 %. 2 @ 8 Aefier Hivrdgt 5 997 qieal.
2) ITeihEicT 3k TyTR guUt 7T Fviterara.
3) Hewlardt gw susit Syaliest ugrE.

g 1) anygies wETGETEn 31 WM. YT e feie HE T & [20]

gy 2) ‘wEe™ wHed’ A1 wne sarean g, i g ey R e w.[16]

gy7 3) O SHORATUHT HEed fo1gl. aa=an SHaelu-T=h aol Tee . [16]

gy 4) ‘wEEE Tu A ARl SAre gl e 3-Uuse WiEe 9 die e wl.[16]

gy7 5) A SHAETUA TEUH hid ? A SAETOATR Hged SATUT dedl TS ohdl, [16]

97 6) UITEEATE AR fo1gl. HavIagAT=! Haed MU JTSAB TS . [16]

99 7)  AGUH SHTH WA YT HETCATA STHHUh SR YHH! TTE .
[16]

yg7 §) fem fermn. [16]

A) HEATAN RS HITUTEhIEHITT
) IS Yha® (Accounting Pacages)

SISIS



Total No. of Questions : 8] SEAT No. :

P738 [Total No. of Pages : 2

[S158]Ext.-107
F.Y. B.Com.
BANKING AND FINANCE
Fundamentals of Banking

(2013 Pattern) (Optional)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :

1)  Question No. 1 is compulsory.

2)  Solve any five question from Q.2 to question 8.

3)  Figures to the right indicate full marks.

Q1) Explain the structure of Indian Banking System. [20]
02 ) Explain the functions of Bank. [16]
03 ) State the types of account holders. [16]
04) State the methods of electronic funds transfer. [16]
05) State the balance sheet of a commercial Bank. [16]

06) What is Bill of exchange? State the characteristics of Bill of exchange. [16]
Q7) What is 'endorsment'? what are the types of endorsment. [16]
08 ) State the need and importance of modern technology in Bank. [16]

SISIS

PT.O.



Total No. of Questions : 8]

P738
[5158]Ext.-107
F.Y. B.Com.
BANKING AND FINANCE
Fundamentals of Banking
(2013 Pattern) (Optional)
(I3 ®UTAR)

d : 3 ad] [TEor 7T - 100
gedr ;- 1) " 1 dHad o,

2) Y92 d 99 . 8 ikl A 5 T9T Tigal.

3) SwTEIREA 37k TYTE GUT 70T G

4) Hewulardt gz At Tvaliest ugrE.
g7 1) YRATI sfeh SHEGH JUTTE= ToHT TS . [20]
g7 2)  ehell hd TS AL, [16]
97 3) WId UNeh TehR G [16]
yvT 4)  soragi-eh el gEmaean ugdt |, [16]
g7 5)  SamOrl sThen A A, [16]
gyq 6) ‘Toriima ux’ g s ferimeeh afvren @, [16]
99 7) USTRA TEUTS A ? TSSTERATA TR ShivTd ? [16]
Ty7 8)  Heh SHAHE YR THAAMIE! TS VT Hged |, [16]

SISIS

2



Total No. of Questions : 8] SEAT No. :

P739 [Total No. of Pages : 4
[5158]Ext.-108
F.Y. B.Com.
COMMERCIAL GEOGRAPHY
(2013 Pattern) (Optional)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :

1)  Question No. 1 is compulsory.

2)  Attempt any five from Q. 2 to 8.

3)  Neat diagrams must be drawn wherever necessary.
4)  Use of map stencils is allowed.

Q1) Answer the following upto 20 words each.(Any Ten) [20]
1)  Whatis cultural environment?
i)  State any two names of secondary Economic activities.
i) State any two characteristics of equatorial forest.
1v) State any two names of crops in plantation farming.
v)  What is meant by Resources.
vi)  What is Wind Energy?
vii) State any two advantages of line graphs.
viii) Write any two disadvantages of under population.
ix) Write any two advantages of railway transportation
x)  What is tourist?
xi) State any two products that are exported by India.
xii) State any two centers of hill stations in India.
xiil) Give any two disadvantages of Isopleth (Isomaps) method.

PT.O.



02) Explain the factors of physical environment.

03) Explain the role of agriculture in Indian economy.

04) Give the geographical account of monsoon forest.

05) Give an account of Cotton-Textile industry in India.

06 ) Explain the geographical factors affecting international trade.

Q7) Give an account of tourism industry in India.

08) Explain the characteristics of commercial and plantation farming.

SISIS

[5158]Ext.-108 ,
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Total No. of Questions : 8]

P739

a2 : 3 a™|]

[5158]Ext.-108
EF.Y. B.Com.
COMMERCIAL GEOGRAPHY
(2013 Pattern) (Optional)

(2013 Pattern)
(A3 ®aTaR)
[T%or o1 - 100
1) zvas. | qifan sihard s
2) uwA.2ad 8 UYA Fvrg ure IvT GiSfau vk AT,

3) SiEvas a9 aw AT FIEl.
4) THTIN LT qARUETE WA 37Tg.

uo7 1)

Wl T 3™ Teaeht 20 vregm forgt. (Shiurdt ggn) [20]

)
ii)
iii)
1v)
v)
vi)
Vil)

Viil)

HiHTeh TETaT U W ?
FIEAEIST FgUTH R ?

Y3l FEUTS! T ?

I AT FH Frag €.

AN ARG 3 39 Ji

3 ATEThTe 9 TR |
TECh U hiT?

WRATA i SoTd hIUTdEl g Ieareq @Rt
A Y1 UEdel G e |



a9 2)

797 3)

97 4)

9T 5)

97 6)

91 7)

97 8)

TTehitieh UHTERUTT Ueeh TT¢ .

TR Jreiearada Fdte Afrert Taee .

AT RO HTifeTeh I aol.

RS Gt — T @I Fid goll.

AR STIRTER TRUTH FOTR HTioTeh geeh Tae .

R Ui SERTen g goll.
ST SATUT HesAT=aT Jidien SvTees) T .

SISIS

[5158]Ext.-108 4
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Total No. of Questions : 5] SEAT No. :

P740 [Total No. of Pages : 4

[5158]Ext.-109
F.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Defence Organization and Management in India

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1)  All the questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten) [20]

1)  Define defence management

i)  Define perspective planning

i)  What do you mean by Grand Strategy?

1v) State the meaning of armored corps

v)  Write any two functions of B.S.F.

vi)  Write any two functions of Civil Defence

vii) Define sea-power

viii) What do you mean by mobilization of Defence forces?
ix) Define national security

x)  Write any two characteristics of signal corps
xi)  Write any two limitations of Air power

xi1) State the meaning of Military industrial complex

xiii) Define national power

PT.O.



Q2) Answer in 500 words.

1)  Describe modernization program me of Indian armed forces after
independence. [20]

OR

1)  Explain organization and functions of ministry of defence.

03) Answer in 500 words.

1)  Explain power and functions of the President in relation to the Armed
forces. [20]

OR

1)  Write a note on India's second line defence

04) Answer in 500 words.
1)  Explain role of Armed forces Medical corps during peace and war.[20]
OR

i)  Describe characteristics and functions of signal corps

Q5 ) Write short notes on any two [20]
1)  Role of C.R.P.F in homeland security
i)  Role of territorial army in national security
i) Limitations of Indian Navy

1v)  Various types of Aircrafts in Indian air-force

SISIS

[5158]Ext.-109 ,



Total No. of Questions : 5]

P740
[5158]Ext.-109

F.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Defence Organization and Management in India

(2013 Pattern)
(A3 ®aTaR)
g : 3 am] [Tor Ut - 100
geEar ;- 1) @d gy QIsfant savaes igd.

2) ITEIHREIA 3k TYATE GUT 7T G

g7 1) 20 visam W =0 (R 221 [20]
) O SETAA’ SRE .
i) “TEUEEteg T SR S ?
iii)  Jvs Tl TEUS HE ?
iv) “omEre wiem” el forr.
v)  E GRen ST hIUTE G S foTat.
vi) T EREIUT TS RV S R G .
vi) ‘AR wmed” saReE = .
Viil) TREIUT AT MAHTAT TEUT <R ?
ix) U gRen” ST
X) “Hueh TEvre” (Remetshicd) Svd g afvres forer.
Xi) ETS ATHLATEA HIVIETE g wata forg.
xii) firefiell Treediae wirteea g wE? 1o fora,



g972) 500 vr=E S &= [20]
) T YA TR SHTEET SN fehieuTean ShishATa JuT .
fement
i)  TREIUT WA TEeA AU T TS .

g7 3) 500 viegmE SR = [20]
i) TV BTG HeHTa TPUde JfIRR 3TIfUT hidt TUe .
feRen
i) ““WRATE EREUT=R gEEm Wbt AR feuut forgr.

g7 4) 500 vieaE IW M [20]
i) O BAIEAe Afewel i (Jeuha Aed fawm) <t geg enfor vriden
THIBTA YfHeht Tae .
feran

i) e s (Fuh =om) =it w5 snfur A - quik .

99 5) ST 1 S (SR 3 ) [20]
i)  siaTiaEeEE S T deid gere Yften
i) fE gt Mefn dTeTeh it
i) R FeeTean qaie
iv) YR gargeardiel fafaer germe fomm

SISIS
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Total No. of Questions : 9] SEAT No. :

P741 [Total No. of Pages : 2

[5158]Ext.-110
F.Y.B.Com.
CO-OPERATION

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1)  Question No. 1 is compulsory.
2)  Solve any five questions from the remaining questions.

Q1) Explain the principles of co-operation adopted by international co-operative

alliance in 1937. [20]
02) Explain the stages of revolution of co-operative movement in India. [16]
03 ) Explain the report of maclagen committee 1912. [16]

Q4 ) Explain the contribution of Dr. Dhananjayrao Gadgil in co-operative movement.[16]
05 ) Explain the meaning and objectives of co-operation. [16]
06) Explain the strength and weakness of co-operative movement. [16]
Q7) Explain the role of state government in Indian co-operative movement. [16]

08 ) Explain the objectives of co-operative education and training programmes.[16]

09) Explain the types of credit co-operative and non credit co-operative societies.[16]

SISIS

PT.O.



Total No. of Questions : 9]

P741
[5158]Ext.-110
F.Y.B.Com.
CO-OPERATION
(2013 Pattern)
(A3 ®aTaR)
g : 3 am] [Tor Ut - 100
qgeAar - 1) =3 1 Qisfan JEyas .
2) U 2 a9 Gkl wivag gre qigar.
w7 1)  ofiawra HEewl wEEl 1937 < gEewi ae T . [20]
g7 2)  YRATI HEhil Ibaeiial Ichiciea STaell T . [16]
gy73) VoW AR 1912 = 3@ TEe . [16]
gga 4) Sl YA e Il UgHhR TSaaiiiel e T ol [16]
gg75)  OgmIrEn 31 TI hEA UERNTE Seiseel U . [16]
97 6) UEHR ASABIAIA YIhl SATUT THET TIE . [16]
gyq7) YRR HEER TSdeiidicl T TR YRt T . [16]
yp7 8)  EEeRi fieror @ uidieror wrEiRARR Sedies) TR . [16]
g7 9) YA W T ST ok ua gl T YRR TS R, [16]

SISIS)



Total No. of Questions : 8] SEAT No. :

P742 [Total No. of Pages : 2

[S158]Ext.-111
F.Y. B.Com.
ECONOMICS
Managerial Economics

(2013 Pattern) (Optional)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :

1) Question number one is compulsory.

2) Attempt five questions from remaining.

3) Figures to the right indicate full marks.

Q1) Define managerial economics. State and explain the scope and characteristics
of managerial economics. [20]

02) State and explain the law of demand. Explain determinants of demand. [16]

03) Explain the law of supply. Explain exceptions to the law of supply. [16]

Q4) State and explain the law of variable proportions. [16]
05 ) Explain meaning and usefulness of capital budgeting. [16]
06 ) Explain the cost benefit analysis. [16]
Q7)) Explain the role of multinational corporations. [16]
08) Write notes : [16]

a) Objectives of business forecasting
b) Investment decisions for diversification.

SISIS



Total No. of Questions : 8]

P742
[S158]Ext.-111
F.Y. B.Com.
ECONOMICS
Managerial Economics
(2013 Pattern) (Optional)
(AUt EUTR)
3e : 3 ara] [TeBuT 79T - 100
gedr ;- 1) w1 siard s,
2) Sfa geArdhr 5 g9 wisfo.

3) 3erdiskdier aiek qul uT FViterdre.
4) Geutardt gw Ui TvTalient vgl.

yoq l) —ASRATTRT JFAVTETEN e forgl. sadten sehvErel St 9 e T

. [20]
yy72) unien Fam ot a wose s, armie Rl gew we w0 [16]
g7 3) UrEsuren FHEw formr. Qasare A s e . [16]
g7 4)  secrcan ywen fram forgt @ woe . [16]
97 5)  WiEael SESushTen 7Y J Sughdl [16]
o7 6) W@ oy favewor woee . [16]
e 7) OO g qiHen T . [16]
g 8) & et [16]

H) IO YIS I
F) UREGEATHTS! AaUIeh (U

SISIS



Total No. of Questions : 8] SEAT No. :

P743 [Total No. of Pages : 2

[5158]Ext.-112
F.Y. B.Com.
ESSENTIALS OF E-COMMERCE

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1) Question 1 compulsory.
2) Figures to right indicate full marks.

3) Give illustrations wherever necessary.
4) Solve any 5Q. from Q.No. 2 to Q. No.8.

Q1) What is E-commerce? Explain its function in detail. [20]

Q2) Define the term internet. Explain how to register domain name. [16]

(03) Whatis electronic payment system? Explain it's advantages & disadvantages.[16]

Q4) What is E-banking? Explain advantages & disadvantages of ebanking. [16]

05) What is e-marketing? Explain impact of e-commerce on market. [16]

06 ) Define e-ticketing. Explain online booking procedure of railway. [16]

PT.O.



Q7) Explain in details different types of e-commerce [16]

Q8) Write short notes (any two) [16]
a) Encryption b) M-commerce
c) Digital signature d) E-payment

SISIS
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Total No. of Questions : 9] SEAT No. :

P744

[5158]Ext.-113
F.Y. B.Com.

[Total No. of Pages : 2

INSURANCE AND TRANSPORT

(2013 Pattern) (Optional)

Time : 3 Hours]
Instructions to the candidates :
1)  Question No. 1 is compulsory.
2)  Solve any 5 questions from Q. No. 2 to 9.

Q1) Explain the various principles of life Insurance.

02 ) Explain the need of Insurance in detail.

03) Explain the problems and suggestions of Transport.

Q4) Explain various modes of Transport.
05) Explain the types of life insurance policies.
06 ) Explain the scope of Travel and Tourism in India.

Q7) Explain the significance of logistics.

[Max. Marks : 100

[20]

[16]

[16]

[16]

[16]

[16]

[16]

08) Explain the difference between life Insurance and General Insurance.  [16]

09) Explain the advantages and limitations of Air Transport.

SISIS
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Total No. of Questions : 9]

P744
[5158]Ext.-113
F.Y. B.Com.
INSURANCE AND TRANSPORT
(2013 Pattern) (Optional)
(A3 ®aTaR)
g : 3 am] [Tor Ut - 100
qgeAar - 1) v | Gigtau snasaes a8,
2) 9. 2 99 . 9 AT Fvdg qrer qiga.
gy 1) smgfavEr fafay ac aforr Tase . [20]
gy 2) Teramh et aferaiuur T . [16]
97 3)  STEqEheal AHEAT AIUT SUT T . [16]
v 4) agge fafay geR woe w0 [16]
g7 5)  sgfdm utete fafay ger wase . [16]
97 6) WRATHA Tam@ o GHeATN SATH T . [16]
gy 7) AlSIECehe Hged Ta% R, [16]
y7 8) ST ST WILROT T ATeiet ek TS Rl [16]
99 9) TATE AIEqehe TR J Aie TU . [16]

SISIS)



Total No. of Questions : 8] SEAT No. :

P745 [Total No. of Pages : 2

[5158]Ext.-114
F.Y. B.Com.
MARKETING & SALESMANSHIP

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1)  Question No. 1 is compulsory.
2)  Answer any five questions from question No. 2 to 8.
3)  Figures to the right indicate full marks.

Q1) Define market? Explain the types of Market. [20]
02) Explain internal & external factors of marketing environment. [16]

03) What do you mean by buyers behaviour? Explain factors determing buyers

Behaviour. [16]
Q4 ) State various types of marketing channels. [16]
05 ) Explain in detail methods of sales promotion. [16]
06 ) Explain the features and importance of Rural marketing. [16]

Q7) State characteristics of services and explain importance of services in
marketing. [16]

08) Answer in brief (8 marks each) [16]
a) Explain role of product manager
b) State elements of promotion mix

SISIS



Total No. of Questions : 8]

P745
[5158]Ext.-114
F.Y. B.Com.
e snfon fesmraeren
(2013 Pattern)
(TSt T UTHR)
aw : 3 ar|] [vsor 79T : 100
geAar ;- 1) 399 9Tk | @il Jmavaes g,
2) SoidlieRgicT 3k T guf uT FoifaaTd.
3) uvwm. 2 a8 qrddhl 5 gy QiSlaut Eave g,
4) deulardt gw Fush Toqataest dgret.
gy7 I) SR TEUN T ? SRUSTY TehR TS . [20]
gy7 2) Touum vaierume Sidia @ STE Uee TS . [16]

g7 3) TRiERTN aduh U 1 ? TRIGER - SGUR Tew Tase . [16]

gy 4)  Taawon aee fafae geew wim. [16]
gy 5) Tosraaedie fafay yer T w. [16]
T97 6) Inthur ferauET=R afvrest snfon wEea Tuse WL [16]
gyq 7) W afvrest @ snfvt fguera dare ugea T . [16]
Tp7 §)  eiiswT IW . (SRR 8 TuT) [16]

)  SeUTEH SHSEUTIhTH! YiHehT T .
q) fosragedh fas wew wm.

SISIS



Total No. of Questions : 8] SEAT No. :

P746 [Total No. of Pages : 2

[5158]Ext.-115
F.Y. B.Com.
CONSUMER PROTECTION AND BUSINESS ETHICS

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1) Q.1iscompulsory.
2)  Solve any 5 out of Q.2 to Q.8
3)  Figures to the right indicate full marks.

Q1) Define : 'Consumer’. State the problems of Rural and Urban consumers.[20]

02) What do you mean by voluntary consumer organisation? State the importance
of voluntary consumer organisation. [16]

03 ) Discuss the united nation's guidelines about promotion and protection of
consumer's economic interest. [16]

04 ) Explain the redressal machinery under th consumer protection Act, 1986.[16]

05) Explain the provisions under section 7 and section 8 of right to information

Act, 2005. [16]
06) State the importance and scope of business ethics. [16]
07) Discuss in detail the "Green Initiative" [16]

08) Write short notes :
a) Nature of standard form of contract. [8]
b) Legislative reforms regarding standard form of contract. [8]

SISIS

PT.O.



Total No. of Questions : 8]

P746
[S158]Ext.-115
F.Y. B.Com.
UTgeR TI&T0T 30T =adiies Hifaged
(2013 UeH)
(TS ®UTR)
3e : 3 ara) [TeBuT 70T - 100
AT - 1) 3. Ien gl siHar sie.
2) U . 2 a8 Adhl HIviagt urer 9y TSl
3) deulare e gueh ygrafien ugrEd.
yy7 1) SAWEE =0 UTES UTHUT 3nfuT IIgd Irgentean wEn fervte . [20]
gyq 2) TaSEl UTgeh TEAT TZUTS i ? Tl ATgeh U=l Hged TISE . [16]
97 3)  UrEehrel Aok fRawern HRuarETdt & Urgeh fTel SR HRUSTETS! HYh Teeaarea
ATigyieh ol o . [16]
gy 4)  Ugeh GREIUT EEl, 1986 sidia rumd ashR famun Jsun v . [16]
yy7 5) Wi SAteeRR wEEr, 2005 Aefiet wewm 7 9 et 8 STaid STEuTT=a avdet T
L. [16]
99 6) SAEEIRG Aifageare Hged ST SHTH T . [16]
97 7) ‘gld YerRr AR AioEmR Tt w. [16]
w78) Fmem
H) HEH WY EET [8]
q) AHH FRGAI Tt AR GLUwRon [8]

SISIS



Total No. of Questions : 5] SEAT No. :
P747

[Total No. of Pages : 2

[S158]Ext.-116

F.Y.B.Com.

BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
All questions are compulsory and carry equal marks.

Q1) What is poverty? Describe in detail the causes and remedies of poverty. [20]

02) What do you mean by entrepreneur. Describe in detail the distinction between

entrepreneur and manager. [20]

OR
Define the term business environment. Explain in detail the types of business

environment.

03) a) Explain the role of entrepreneurship. [10]
b) Explain the role of Mahratta chamber of commerce. [10]

OR
a) State the comparison between entrepreneurial and non-entrepreneurial
personality. [10]

b) Write a detail note on entrepreneurship development institute of
India.[EDII) [10]

Q4) Write a detail information of any successful entrepreneur from your area.[20]

Q5 ) Write short notes : (any two) [20]
a) Narayan R.murty
b) MCED Maharashtra centre for entrepreneurship development.
c) Entrepreneurial behaviour.
d) Entrepreneurship in economic theory.

SISIS



Total No. of Questions : 5]

P747
[5158]Ext.-116

F.Y.B.Com.
BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP

(2013 Pattern)

(I3 ®UTAR)

3z : 3 a’™] [Tt 7ot : 100
qgear - 1) @& 997 qisfa sravas oie.

2) SoidficRgicT 3k T qUf IuT FoifaaTd.
3) wewlardt qe Ui SvatiET agrE,

97 1)

9 2)

o7 3)

97 4)

797 5)

TG RO 1A ? SRGITN RO 30T ST Afeaqul auia . [20]

eI 1 UTE SATIUTE 1 rae) gial ? Sehiieh SATUT STaeelTieh Jreardict Weh

Ffeaqul 9ui . [20]
fRen

SR TITERUT 1 E3iel! SAREH1 2T, SATHTEIeh THIeRuTel TehR Tfiaiuul T

0. [20]

H) ISR YR TOee . [10]

F) TSI A SATH HiAEt HHHT T H. [10]
e

) eI ARRAE 3T forR SeisTehia SR ardiet get . [10]

q) R SeTehal ferehr wEen Irer aferr du ferg. [10]

TATAT URTAIE hIUTCTEl FIRE SeNSTehret Hifget Afoeaaut forar. [20]

fem for. (wivreas 3m) [20]

) AR AR, Tl

) HERTS IeIehdl ™ g
®) SESTRE TAUH

g) o frgiam Seistehdan

SISIS)
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Total No. of Questions : 8] SEAT No. :

P748 [Total No. of Pages : 4

[5158]Ext.-117
F.Y. B.Com.
FOUNDATION COURSE IN COMMERCE

(2013 Pattern) (Optional)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :

1)  Question No. 1 is compulsory.

2)  Answer any five questions out of question No. 2 to 8.

3)  Figures to right indicate full marks.

Q1) Define the term partnership. Describe in detail the advantages and disadvantages

of the partnership firm. [20]
02) a) Explain advantages of co-operative sector. [8]
b) Discuss advantages of ATM [8]

(03) Whatis corporate social responsibility? What is it's role in modern business?[16]

04) a) Explain foreign direct investment's and its advantages. [8]
b) Define Joint venture. Explain limitations of Joint venture. [8]
05 ) Describe role of trade Commerce and Industry. [16]
06) a) What are limitations of fronchising. [8]
b) Describe challenges before logistics. [8]

PT.O.



Q7) Write the meaning of following terms. (any 8)

a)
b)
c)
d)
e)
f)

g
h)
i)

)

Internet banking
Privatisation
Trade mark
Trade cycle
Patent

Primary market
Surrender value
AGMARK
Credit Rating

Consumerism

08) Write short notes (any 2)

a)
b)
C)
d)

Business ethics
Outsourcing
Online trading

Drafting of an agreement

[S158]Ext.-117
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Total No. of Questions : 8]

P748

[5158]Ext.-117

F.Y. B.Com.
FOUNDATION COURSE IN COMMERCE
(2013 Pattern) (Optional)

(TSt TUTaR)
des : 3 ard] [TgoT 7797 : 100
g - 1) w1 e o,

2) U . 2 a8 Gl Hivrdgl arer qiga.
3) SwdteREier ik gut uT gvifea.

gy7 1) ‘OmiieRl’ Sehed-el SAREAT €. HRIGR T ThRie 3117 die |ferea? gl w1.[20]

gy7 2) 3) UEHR A EES TIE . [8]
F) TH.TE. A EmES TG H [8]

97 3) Ogh AHINTG JETEgRI U hid ? ST SR et e w@? [16]

97 4) 1) U TR AU FEUS R o R T Wi | [8]

F)  EIH TR SATEA AT, T WEHA HIigl TUee . [8]
97 5) AR, S0 AU ST ATt Q{HERT JUH . [16]
g7 6) 31) WRFAATERT ST HATST S0 o TR, [8]

q)  WAITECH TANE HATegH A0H . [8]



gy 7) el ST 3o WRm. (SR 3s) [16]
) ZeWE R
d) EREiER
%) =R fug (33 )
g) AR Wk (3T TREHA)
3  wkE
®) WAt SR
) WS,
Y) 3R
@) whele e
q) HeguiEm

g §) &l TR (RITATE §) [16]
d) TAUR IR
q)  ISeEEn

®)  SAtaes efgn
) hEAGATT HEST

SISIS
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Total No. of Questions : 5] SEAT No. :

P749

[Total No. of Pages : 3

[S158]Ext.-118

F.Y. B.Com.
ADDITIONAL ENGLISH

Textbook : Gems of English Prose and Poetry

Edited by : Ashok Chaskar, Vijay Madge, Anand Kulkarni

Time : 3 Hours]

(2013 Pattern)
[Max. Marks : 100

Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right indicate marks.

Q1) Attempt any one from (A) and one from (B) in about 150 words each. [20]

A) 1)
ii)
B) 1)
ii)

'"We need to support our small farmers to go organic' Discuss Shiva's
statement.

Why have we become insensitive towards the beauty of nature
according to William Wordsworth?

Discuss how persons in the field of advertising earn their livelihood.

Comment on the picture of modern society presented in the poem '
Once upon a time'.

02) Attempt any one from (A) and one from (B) in about 150 words each. [20]

A) i)
ii)
B) i)

ii)

Write a note on Stephen Leacock's interaction with the Bank Manager.
What is the reason for the traveller choosing the less-travelled path?

What are the different examples of good manners that hill talks
about?

Comment on the universality of the poem "Where the Mind is without
Fear'.

PT.O.



03) Attempt any one from (A) and one from (B) in about 150 words each. [20]

A)

B)

i)

ii)

)
ii)

Comment on the use of 'silence and tears' at the beginning and at
the end of the poem 'When We Two Parted'.

According to Martin Luther king, When will the African Americans
be satisfied?

According to Ray, what is wrong with Indian films?

Describe the ways in which Walt Whitman thinks of God.

04) Attempt any one from (A) and one from (B) in about 150 words each. [20]

A)

B)

05) A)

B)

[5158]Ext.-118

1)  What does Aruna Roy say about the importance of collective public
action in India?

1)  Write a summary of the poem "The Lotus'.

1)  How does the poet succeed in making the sad tale of the father
effective? Illustrate your answer with examples.

i)  Why is Vivekananda proud of the nation of his birth? How has the
nation helped others?

Attempt any one of the following in about 150 words : [10]

1)  Write a character sketch of Mangal Singh in the story 'Duty'.

i) How does the poet describe the first three stages in "All the World's
a Stage'?

Attempt any five of the following : [10]

1)  Give synonyms of the following words:
a) SOrrow
b) select

i)  Give antonyms of the following words:

a) lazy
b) lend



i) Add suffix or prefix to the following :
a) dis __
b) _ less
iv) Choose the correct alternative and rewrite :
a) They _____ (do/make/form) mistake.
b) Heis____ (highly/thickly/adequately) reputed.
v)  Give full forms of the following :
a) A.TM.
b) PD.F
vi) Give verb forms of the following words:
a) examination
b) description
vii) Give noun forms of the following words:
a) act

b) translate

SISAS)
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P750

des - 3 am|]

[Total No. of Pages : 4
[S158]Ext.-119

F.Y. B.Com.
MARATHI (¥13t)

TEEING & IUATNTA St
(2013 Yes)
FVAYEAHR - ) AT
ii) SRR g ST At

[wwr o1 :100
1) @& 999 QIS0 HEITH 37T3.

2) SoiefieRgleT 3k Y9I qUf IuT FoifaaTd.

v 1)

H)

Wefteieh! shIvTeTdl Teht farvamer 500 vrsara fay ferar. [10]
i) ErmETR St s 99w

i) oM, SIagR T aur

iii) e AN IgEE gEE!

iv) Qe ® e !

WTATTOhR! VTSl 21 Toarel 3w 20 vrsara fergl. [10]
i) =i ofim W] A T e HREH R T Therrvid fesrett 2
ii) o YR T WRA T g JERR IVl ANEHT JEge quaTd

HATAT?

iii) ST.{M Arhae I HIUTN U TEE ™ wEA TarE dvned
HA?

iv) ST.IgA AI9IE U1 SATUEAT THIS STl SFTEn 3™ died ?

v) oi.2.fa e e i wuaEdt Siute 29T e ?

P.T.O.



v 2)

Tv7 3)

vi) @i foea wea I v e fere 2
vii) . STt aTel A HeATSTae VTl ATaH AR TS SHRE ?
viii) TEYQTE TuehTes AT HIUTERRT ShivT f9TeRfaet ?

ix) oft. gorwterg 9 Hi. THEA AR A HATTAT SHTET BT AT F&
HAT?

X) ‘gAY SEEd g ue il fofeen ?
xi) &. ", FAHOI ATl YUl AT HE?
Xii) R dgeTeRt FHT ShIVTAT Wb e TS 378 ?

WICAIEh! HIVTCATE IR Tere I 50 e forgt. [16]
) = ofW AR T Aest 9 RReETdier aeeHn Rt erse Hitgdt gu.

) A WA AT TR QT T igeRITd Tase ol

%) St T AT A ATl Tergel SNSerITd T8 .

g) o 2. . oeus am Seusha Mieunfasi va areerny T 5.

3) Tl fooa wea Jiem St AiSe T T T

%) whIe i 2 foret et e fererrenfereieht yitreR eftgerma Tose .

Wl Ueht HIVTETE g Sgaret SW 150 vegm fotat. [16]
) I WA el MEH SETdiel GRTEMT siggel Witgdl forgt.

) . T drehae T H1eTuT QTdiel st eigarITd SATeTe B4l.

%) TayamE auehe AT e USHT T .

T) off gorHteg o Hi.wHeT TIRTSAT arel TR AT TR .

[5158]Ext.-119 2



gyq 4)

yq 5)

99 6)

WCATCTdh! ShIVTTE 3 Tere I foran. [16]

i)

ii)

iii)

iv)

H)

=)

H)

‘STt IEAN TR, YU T YA HEE AR otdieh ug waEr 3T
HT. T I AT JASTren HHgel aar .

e aaR .

oft. foa ST I TR Ul IEeRl UaEERl, 9T A | A F 9
FHSTATTUNETS! 311 hell TR, TATER |, TaTesh@dt fewuft forg.

ST ISAN TUEH AU SSART GEaTd ISt Wit foshl g% shett

TWeATdeh! SHIvTCTEl Teht SToATel IR forgn [8]

i) UgIfEneEE Tea §9, 29d, HUR 9 3 B TRel HIeE R,
rETdt WER fAfee dem %,

ii) WA uge forwur TuRHT Hasil SER fFae Tam .
WeAteTueh! ShHIVTEATE Ueht falmeR SIHT USTHTS! STTfeRrden Weel a9 . [8]
i) TETEA B

ii) “areq @ (T Esed)

WITUh! ShIVTCATEl TS UTRATNS & fotat. [8]
i) Act ii) Adjust

iii) Commercial iv) Committee

v) Draft vi) Depression

vii) Head office viii) Income tax

ix) Marketing X) Quotation

[5158]Ext.-119 3



F) e AT Ueh it ORiv oiE e e T v . [8]

TTEIERITS! AT Tl TR AR 3T, THRUT ST T TSI
e YRR FAhS T TR, WediHe Hyut 391 et e . AR
TR, AEHTEATA TR ol SR LehIaRIeh  I-IT I3 Sd. TeedTeil S@HTeA
3ot ferehT T WRA oATET URRITEET 3118, TeATadiel aTgqeh TU dieet 3T,
TTTER &A1 {Srehte ot STevaeh 3. WEAredl qUeaye Hicsll THIuER
AT Jrehel T BdTd. T TuTerH o fergr 2.

Jefie? AR 3k TRl g dTerdTd. 381, ¢oh, HIEW, 59, Whey,
TIhHel, ASAT, TGN, T2 3. ATdh! g STeAd higl He T higt ISR
T, SATIATU ATETAE T FaEeR 3TEd. o= THT0 gl 37 o
AT Ttk & FEER Had. SEqehrel FIam UTestl STeveeh 18 Ul high

(752 e 134)
feren
WA ST Sar=arel WS WIS <. [8]

Human beings are always in search of some or the other means of
entertainment. We try to invent something for our benefit and to
lead a peaceful life. Radio is one of them. Marconi of Italy tried to
transmit the sound waves form one place to another. During this
process he succeeded in transmitting message from England to
New Zealand in 1901. Indian scientist Jagdish Chandra Bose had
also tried to do the same experiment but before he could come
out with any conclusion, Marconi had finished his experiment.

So, all credit of inventing radio goes to Marconi.

SISIS)
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[5158]Ext.-120

F.Y.B.Com.
HINDI (f2€t) (Optional)

geAy :—1)  avft gva sifard g |
2) It 3R fora 37k T & guiiek 2 |

ggg 1) 1) FrafaRaa o @ fredt v uva o sw foram @ fafam - [10]
i) ‘TgniHE % TEaUNad o gaRl HIaEd! i oIt ot Hevt wuifva foha @
18 o MR R Tree FifRTu |
i) Eeht v Tm sgaEE B, Kok fon uee wdt | ge sravas @
qfda gl o SR W Toee hIf |
7) Fafaiea @ o fFd v 97 &1 s for 9 fofRau - [10]
i) ‘Ocg ol AT A SEhT TRTA 3cTE, It A giiaehal W i o1
T e’ el wieat & snam W v fifm |
ii) ‘e g’ wicar @ wrene feafu |

yy7 2) TrafeiRea @ @ foredl @7 gwat & S @ | fafau : [18]

HA) SR 1 aRE— e hifu |

q) ‘A % I H g A B S fFi-fo sgd n w E ue F enar W
Tee R |

F) U 3R YA’ T THIHAT AAT T i gt ¢ T8 T |

3) Afimd g % AP W eRm SIfeg |

3)  HEWVE el fA-sTaE % SuAi H Wehe SRl hl ae i anh 3 ¥ -
e fifm |

P.T.O.



gy7 3) FrafeRea @ @ foredl i weAt o ST e @ fefau | [18]
H) FUSTFHAN TIEH A W SHaA hicrar o WIETH | FEt S 1 6 3garied
feren 3 - Tue Fif |
F) WRAg gRveg 3 STu gl gaw s it e it @ - e fifw |
®) HIHEAT Shiddl  wrEned 31U viegi # fefam |
¥) ‘gerEd’ whidal emiel o URSEA ST USRIl e 8 Taee i |
3) T @ed B e oo e Sew It 27

gyg 4) 31 FrafaRea ® @ Rt @1 sraawon h wwe saren fifsu | [10]
i) “gA cieH—ysT Al A gRt, e gH SAUR-EUl et —de i Td
U= ST |

i) e W % A 39 AHHE 99 it U Hat 31 Sl fHen WS &
TN STEEA ! WA I A 3o 9@ off T8 3@ weRal”

iii) oo, 3 oiv T wEr S | W e g W Y-y wh B | g g
H T T el A e hEA-TEIE qh hedl 8 |7

9) fFeafafaa d @ Rl 3 sraawn i Teey s fifu | [10]

i) g g ol TR
=4 g, Fa-fey & |
Tg A i Fo T 7, a9 6 @ X R |
AT A W, WA Y, WA !

ii) ‘FERH Sgd AEE g e &
Tgu 3R o iR WhuTa o =g ol g
Seifeh GrERI A1 fidh Uk et ST |
Tal ot Tkt 8 17

i) ‘caTH S W SiERR
qum, féen, ardem 2
T T g:RaEt o e
Siter faerg aR-arR 8

[5158]Ext.-120 2



797 5)

H)

Frafeaa o @ =g e Tl & uewh-usk T | I foTRau . [5]
i) 35U W &% ue-fora Wifar ot @i @t o siferer uwg o €9
ii) I AU I FE THR AT BT SR 27

iii) omeHt ugeR U fREa weft 5 T Ao

iv) wFefeg 9oy fore el @ g8 ?

v) dg gl A feeett 32

vi) ERAYRE STTq & HTAR U Hh W & TR i 89

vii) FifRretoron sEtet % SEER Arwnft & ae o 7R T sie i
viii) Uehia Sfiameaa 3 IER Uk S <hl e 5 o foTe foraeht stavaehan 27

Frafeiiea ® @ forgt uter v1sgi o REt uiienfues v1sg feiftam - [5]
i) Credit ii) Discount

111) Agreement 1v) Figures

v) Initials vi) Out-word

vii) Report viii) Zone

Freafeftea @ @ foreht ues fermmom o1 srreRder g o AR | [5]

i) W # 3T AU AISt o €8 o 70 3ugh de o fommA |

i) oR H R 78 &R o fomma |

FrafeRaa aftese = we-foge arm fafan | [4]

AN ITE IO 39 Torawar SRl ShRUT AT SRl & W 8 | O & U 6g,

3R 317G T3 o AN, TG 3R TG AU STER o TR TS |E SR 37g Al

o QAR UATGRUT <hi o Sl & 3TR 3ok TRl § STEgei o Torwan et st &

3R TR T 3R Tfeeh &9 & 3ok fom ufuomdt st ST 2 | 37 gt acat i

LI W @A U AT hl T Ug 37U UIRETReR UE AT, HiRghideh Ua

3R TTfcieh Te WATISTeR UETaRuT <l giud ot § ST =t |

Frafeifga # @ fereit teh st o=t ot au TEr i | [5]

i) hvTa /NI MEHI, UL, I | Tah, Soh SH TERIE, IR
e VRS o AT e @l Wiei gq fermet vt fereran/foradt 2 |

i) wr/ufen gy et | vewe, wio faum, i wgrmrotferen & T
Tt It & Ao o IRt v ferean /foradt 2 |

SISIS)
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Total No. of Questions : 5]

P752 [Total No. of Pages : 2
[5158]Ext.-121
F.Y.B.Com.
GUJARATI
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
w.4) v[lz“{rum%[l 516 ua s [Qwy w2 [Rely @il [20]
(1) AU cal WY
(2) A\ A\ &_&.\{ &\’tl\-ll\t
(3) 1% A A el
(¥) il CRe\\ @ v,
W) S8 waL Bs usddl AR G guil [20]
(@) Blaneh ol s e alndl s s
(2) Re&keN cxeTalal Ty 2] 200ARNS A,
W.3) A9 ua s Wrif ARt B qull [20]
(1) 2 o o=t oo PRI
() vl ey A 2l Ry PR
wY) (2) dsedly avl : (S8 unt ) [10]

(1) alda onetell aaafizisa)
() BUT At «3 ANy aung 82l

P.

T.0.



(o) Eorile el ¢ (516 wwt 2is) [10]

(1) ZAp231_ 200 2N o) SRAED s

(@) gl et eafad Ssena G et
Wu) () yaluR 2oy qull : (A8 el - 9s 91g) [10]
) & gqam ad e Fet tubal 2dsisda,
(2) % Alell $A1 Ry AR 302 e
(3) enafear DT ML) A o2
() €0 olentdl 20l $¥ AR .

(a

(@) s ot %}u A\ mgmcrﬂ A2 el

U\ AR (e
%Y\

) SR STy PSR MM 2Fd)
ool AR B guBn el 527

[10]

SISIS
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Total No. of Questions : 4] SEAT No. :
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anyg : 3 @2

[Total No. of Pages : 2
[S158]Ext.-122

F.Y.B.Com.
SINDHI DEVNAGIRI
(2013 Pattern)

[quits: 100

Instructions to the candidates :

All questions are compulsory.

gaer 1) Rfeaf wi &g & sz gawt sn o forat - [20]

g.1)
g2)
g3)
g4)
g.5)
g.6)
g.7)
g.8)

g.9)

fom <t srerm Fier qiafEn?

TGSt T 78 T2 A BT Rl T3 2

e TR T T A (R A Fgdl I Rt g5 2
urdt T ® B e gB e

‘Gatd W A0’ °1S H iRaent St izl W A ?
et vt gaE § o1 ha A Y

HTES & 37

3vad Saaufier fR ot W gg e

freme Yaem < FE qe

g.10) it it weeR Are iefior o1 wHiSt EaR e gE ?

g.11) T urist @ T Bt a9 oie ?

g.12) magda ymi A feg 3 o1 = o a@re

P.T.O.



gare 11) feaf wi fwf fa faft gaef sn sarg forent - [30]

g.1)
g.2)
g.3)

g4)

‘aght’ i H IIg Wigd Hige form avt e anfafe
‘391 T SARM Y W a1 ATHaTUier N @ UTsUl IR Shiget SRon fE o ?
‘31 T gH g H wmee gl faenin wige foem aw wn afifae

‘it U AYWE” Hicdt W IS0 Yl IUH IS WISl AR U HREtst It Akg §
HIZS! Feh THST AR ?

gare 111)¢fsafa wi fefa fa fft gameft s sy foret - [30]

g.1)
g.2)
g.3)

g4)

ViR U FEReret St A 9 SR H guwE e
ari3t Sit feRer e = e
et O fadisr it faerfisr S TR | o ﬁgﬁmﬁ?

HTES i UleSl T STerg AR H Jori ?

garer [V)&fe T feg Rem @ aom fora: [20]

g.1)
g.2)

g.3)

AEE - SeH =1 R |
Heset — fEe forggm == |
Freael |

SISIS)
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Total No. of Questions : 5]
P753

Time : 3 Hours]

SEAT No. :

[Total No. of Pages : 2

[5158]Ext.-123
F.Y.B.Com. (External)
URDU GENERAL
(2013 Pattern)

[Max. Marks : 100

Instructions to the candidates :

1) Attempt all questions.
2) Figures to the left indicate full marks.
3) Bang-e-Dara Part-1 B) Mazammen-e-Mujtaba Hussain

(20)

(20)

(20)

(10)

Ay A ST
L
A AP (P
el (ST Ay
L
A BT (IS (Catt 4
_é/@}&-‘iéitt;bl’/:ﬁ Iy
L
AP S S Ay
kLS (I

duﬁ . Ja -y JL/‘;JL.J:{ =

(10)
CEE 5

(10)

_ERJeurLs” (A
336250y _¥ Q_’;’u‘:rujl..._..-?b !

i LIS B LK (N

P.T.O.



(10) GUN-ZFNAE S s ()8
Vil S Fie fusdlay
Laybskiie S ss e AT s
SV Ec,.ﬂ'u;{ () SeV L‘—‘b’ub"c«/f"ﬁ <1
Lusrta T S LY
R TAN TS § el $resileg$rbunty -0
LAY AR A, Ll/ﬁ;(’-’};u’oé_i’fuﬂ;{ -
Vi s e ndebiunfl -2
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Total No. of Questions : 5] SEAT No. :
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[Total No. of Pages : 4

[5158]Ext.-124
F.Y. B.Com. (External)
PERSIAN GENERAL (Paper - I)
(Adbiyat-e-Farsi)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right side indicate full marks.

Q1) Define with examples. (any eight) [16]

ol -2 Sl -

rfOﬁ? -4 = -3
Z?Lv N /bkﬁpﬁf 5
ol o - 8 W LT

(ijCr’ -lo Hbo9

02) Explain any three of the following : [15]
-’ P ,
&;L/ -3 C\// -+ Cor -
¢ d/ Y ol > -4
T i ’. . .

PT.O.



03) A) Reproduce the stories in your own words (any two) [14]

A iy ol 2 cf)/;;_,,/,;

U)}’J(J"/W -3

B) Explain literay works, and life of the following. (Any two) [12]

' 7
)%{,{J/w/f\lb-,z U!fﬂf“/g%,'
Jbt o lle 4 Sl fislo - 3

(04) Explain in persian or translate and explain the complete in English, Urdu. or
Marathi. (any ten) [20]

/wlfofl’//»b'//(’)
l/) (J]/ )/)M’/‘)'/L .
R L.
W;rz>ubﬁﬂy/ﬁéﬂ (2
S 0¥0 wOV}”J)‘g’uJUH/)
(’(f/zw/)/ w’]})”,&u’J (3
(“’U‘/j,w’ﬂ/ulu/pf -
JJ(JL/ j/o’ﬂjélﬂ))ju;? (4)
2SOl 707 s o gl i
/La//{(f)/l/’,;rﬂﬂ rs)
<o, W) & 4 Eals
wt)uw«;rj;/ﬂj/}_ (€
=) obp s Post
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UJL// Zj/j'DJ/LS'LL-—*“) (7
djd\/’,odj,lzol,« (8>
ud oy ﬁf?iii;mé ~~
) oo fob ol T A ()
- Z -
22/ U!?'/H“(J_yf

f‘:',/u(,«, a,,z,,,jz, (1o)
f)/u/db/w)/jbj
) u»ﬁ—’q) );L 0 oD
))__/J;:JL,/ L:)"J(,.a_.ﬁ/ e .
IR ((L«c)//u’/)éﬂo)/" (12)
)J))((LJ/"”/)’/}M_/CI"'

05) A) Translate the text passages in English, Urdu or Marathi given below.

(any three)

Y . /~ ‘ i,
g s J e e Lol 25 e o (1)
v v “(u’//"', 2o /d /'L“‘ ', v - .
uL»{uf:ﬁ‘" MJJU,“/JM})“)/IQ_JI jl{v})bydw,)jﬂ
. i ~ v v B ‘ & o~
-/uijdj-"/f/ﬂ({J)_/U.A.a)-))»"“:’/jbb)).))/f&f'}/gl
. r~ 2 s - J <, LA . o o =
EpU Lol S0y e Zeles )0k Jel vie (JhL,» L
)/“)_/JJ/UZ,-)//

U,UJ/U &r/U’J‘)L"’J’“’/’uﬂfﬁ))c"_)lz C/&L/)f_ (2)‘

5 iy o) Ol ey b2l s s S 5 2o )5
T o) Ellen 55 0 ol i e i iy
Q“Jz’ﬁ/jt;)),(} i/y’\:uf’ s 0k by o 6 57 oM ey
T I 2 A G

— et
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Zz s -
¥ x5 . "' —L__MAA__U/O);
} ZM’/L?} WY o) o S SF i

e [ € -l a8 T 1 31 (4
O3 - 2 WS- Ta P
LRIV S e ! L:Nfﬁjdﬁj'/f ‘ r)f-o)),'? g5
90 o T (i b /L;'/ufi/ﬁ’}d-iﬂf L5l o
31 5 L - 28, e Sl 2 ST
Usl %) :*"/J/Iu:“‘.»’/) 2 le; 0y L£7- —r)//fl 05y
L o s s S LS S

B) Translate the unseen English passage in Persian, Urdu or Marathi.  [8]

Once upon a time, there was a king. His name of Janaka. He was king of
Mathura. One day he found a golden box in the field He opened the box,
there was a child in it. he brought the box in the palace. He brought-up

the child.

SISIS
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Total No. of Questions : 6]

SEAT No. :
P755 [Total No. of Pages : 4
[5158]Ext.-125
F.Y. B.Com.
FRENCH
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1) All question are compulsory.
2) Use of dictionary is not allowed.

3)

Ql

All questions have to be answered in French unless indicated otherwise.

Complétez le dialogue suivant (UN AU CHOIX): [15]

A. M. Dubosc va dans une agence de publicité pour faire la publicité de son agence de

voyages. 1l discute avec le webmestre.
M. Dubosc :  Bonjour. Nous devons faire la de la publicité pour nos voyages.

Le webmestre : Un e-mail commercial?

M. Dubosc: C’est une bonne idée. .

Le webmestre: Je vois une page avec des photos des destinations en promotion .

M. Dubosc: ?
Le webmestre: Oui, le nom du pays et le prix du voyage.

M. Dubosc:  Cest super. ?

Le webmestre: Oui, on peut mettre des rubriques spécifiques, comme “I’hotel”, “vol™...
M. Dubosc:  Parfait! ?
Le webmestre: En haut de la page.

ou
Mme Vo Tran et Mme Delpierre vont au restaurant, “Samoa”. Elles ont une réservation.
Elles commandent le Menu Trio avec la salade ‘César’ comme entrée, steak tartare avec
des frites comme plat principal et une tarte aux pommes comme dessert. Elles prennent le
vin rouge et une bouteille d’eau.

Mme Vo Tran: Bonjour monsieur, nous avons une table réservée au nom de Vo Tran
Le serveur : Oui, mesdames, ¢’est par la.

(-rr)
Leserveur:  Vous avez choisi?
Mme Vo Tran: ~ Nous prendrons
Leserveur:  Et comme plat principal?
Mme Delpeirre:
Le serveur: Et comme garniture?
Mme Vo Tran:
Leserveur:  Et pour le dessert?

PT.O.
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Mme Vo Tran:

Leserveur:  Et pour boire?
Mme Delpierre:;

Le serveur: C’est noté.

Grammaire et vocabulaire

Mettez au pluriel

Le voyageur réserve le billet pour le voyage.
La directrice remercie I'employé.

J'aime bien le plateau-repas.

Donnez le féminin du mot souligné;
Le client anglais parle bien le francais.

Donnez le contraire du mot souligné:

IIs voyagent souvent.

Elles achétent le savon de Marseille.

Complétez avec de,du, de la, de I, des:
Les clients vont voir le prix voyage.
L’ingénieur consulte les dossiers clients.

Complétez avec 3, au, 4 1a, 4 I’, aux:
Nous sommes hotel.
Paul parle délégués.

Complétez avec des adjectifs démonstratifs:
entreprise se situg a Toulouse.
appartement est au troisiéine étage.

La maison donne sur rue.

Complétez avec des adjectifs possessifs:

Sophie téléphone a mere.
Mme Beauchais a deux filles. filles sont ingénieurs.
Le directeur donne des instructions & secrétaire.

Choisissez la forme correcte du verbe:

Les clients demandent/demandes I’addition.
Tu vient/viens de I’ Australie.

Il faites/ fait la cuisine.

Mettez les verbes entre parenthéses au temps donné:
Les clients (partir — passé composé) le 16 décembre.

Le directeur général (diriger - présent) 1" ensemble des activités de I’entreprise.

Le réceptionniste (faire — futur proche) les réservations.

Trouvez I’ objet direct:
L’hétesse sert les repas.

(3]

[3]

(3]

3]
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Le directeur finit son travail.
Vous apportez la carte, s'il vous plait?

Complétez le texte suivant avec les mots donnés ci-dessous:
(pourboire, paye, couvert , mais)

EnFrance,onne  paslepainetle
laisser un

. Le service est compris

Dites vrai ou faux:

Le personnel peut prendre ses repas dans les bureaux.

Un certificat médical est obligatoire en cas de maladie ou d’accident.
Les grandes entreprises ont de 100 & 240 employés.

Ecrivez en mots:
L) 11 2)98. 3)21

Quelle heure est-il?;
21h45

13h30

5h15

Répondez aux questions suivantes (3 au choix):
Nommez deux types de restaurants en France.

Quel plat donnerez-vous a des Frangais dans votre pays?
Nommez une entreprise de votre pays.

Nommez une entreprise francaise.

Reliez les deux colonnes,

A. B.
a. Un boucher |.existe depuis 50 ans
b. Une compagnie 2. vend des fleurs
¢. Le savon de Marsille 3. une bouchére
d.Un fleuriste 4. maritime

Ecrivez en forme de paragraphe:

on peut

Décrivez le processus de fabrication des boites de conserves de petits pois. Utilisez les
mots suivants: laver, remplir, fermer, stériliser, refroidir, envoyer, des cartons, des

distributeurs.
Pour cela utilisez les mots connecteurs — d’abord, puis, aprés, avec, dans...

ou

2]

3]



B. Voici I'organigramme de I'entreprise GSA.

Directeur General -
M. Roger Ducaisse

Assistante - Regine _‘
Marlot

o | 1
Responsable Responsable de
Rcﬁpé):::;lg geus. ;E?tes marketting - Pierre I'administration des
p Chardonnay ventes - Paul Giroudet
7 assistants .
commerciaux 2 chefs de produits 2 assistantes

Q.5. A. Traduisez en anglais:
Usage des locaux et du matériel de I’entreprise
Sauf autorisation exceptionnelle les locaux et le matériel de I'entreprise sont
exclusivement réservés aux activités professionnelles. 11 est interdit d’emporter a I'extérieur
de I’entreprise des objefs et produits qui appartiennent a I'entreprise.
Les salariés doivent conserver en bon état le matériel qu’ils utilisent pour leur travail.

B. Traduisez en frangais (5 au choix):

It is prohibited to smoke in the enterprise.
She is very organized.

We have a range of 400 products.

They offered to do an exchange.

You have 5 weceks of paid leave.

First, I choose a salad.

BN g b

Q.6 Compréhension de texte:

Quand vous étes invité chez des Frangais, vous arrivez avec un léger retard de 104 15
minutes pour laisser le temps a votre hdte/hétesse d’étre prét(e). On n'enléve pas ses
chaussures. Quand vous arrivez, vous offrez un petit cadeau comme des fleurs ou une
bouteille de vin. Au repas, ’homme le plus important est a la droite de I'hotesse et la
femme la plus importante est a la droite de I'héte. Par politesse, on accepte de goiiter les
plats.

A.  Dites vrai ou faux: 3
1. Vous choisissez votre place a table.

2. Vous refusez de manger un plat quand vous n’aimez pas.
3. Vous arrivez avec un léger retard.

B. Trouvez le contraire de ‘a gauche’ dans le texte.

C. Donnez I'infinitif de ‘offrez’.

SISIS
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EF.Y. B.Com.
GERMAN
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Note: Use of a dictionary is not allowed.

Frage 1.A.Ubersetzen Sie ins Englische. [10]
Frida 15 Jahre: Im Stress bin ich jeden Tag! Vor allem am Morgen. Ich stehe um halb sieben auf,
ich muss dann duschen, und Haare waschen,frithstiicken und meine Tasche packen. Die Zeit ist
ziemlich knapp. Ich nehme den Bus um halb acht, und der ist immer so voll, ich bekomme da
nie einen Sitzplatz. Das ist echt stressig! )
Na ja, es gibt auch einen Bus um sieben.Aber dann muss ich um sechs aufstehen.Das schaffe ich
nicht! Das ist zu frith fiir mich!
Also so oder so -— es ist stressig.

B.Ubersetzen Sie ins Deutsche. (nur fiinf) [10]

Nom s W

Sorry, I cannot speak German.

Smoking is not allowed here.

Farmers always get up early.

Tim, are you changing all wheels?

The potatoes weigh two hundred and forty grams.
I would like to a single room for one night.

The students have noted down all sentences.

Frage 2. A.Beantworten Sie die folgenden Fragen. (nur 5) [10]

3 Oy LALES 102 19 e

Wie finden Sie Thre Stadt?

Beschreiben Sie Thr Zimmer.

Was essen Sie zum Frilhstiick?

Was ist Ihr Hobby?

Nennen Sie zwei Stidte in Deutschland.

Was muss man mitnehmen, wenn man zu einem Campingplatz fahrt?
Was haben Sie am Wochenende gemacht?

B. Schreiben Sie. [5]

Sie machen eine Europareise und sind in Paris. Schreiben Sie eine Ansichtskarte an Ihre
Freundin !

C. Schreiben Sie einen Dialog! (5]

PT.O.



Sie mochten am Wochenende mit Threm Freund Tennis spielen. Rufen Sie ihn and

ODER
Sie machen eine Geburtstagsparty zu Hause und mochten Ihren Freund einladen. Rufen Sie ihn
ani
Frage 3. Grammatik [30]
A.Ergiinzen Sie die richtigen Possessivpronomen. [S]
1. “Wie heilit Mutter , Eva?”
2.,, Anna und Leonie, sind Lehrerinnen freundlich?
3. Das ist Ashish. Land heift Indien.
4. Wir machen einen Ausflug nach Alibaug. Lehrer kommt mit.
5. Herr Miiller, wo ist Sekretdrin?
B. Ergiinzen Sie die richtigen Personalpronomen. [5]
1. Alex ist Ingenieur. Ich besuche ____ heute.
2.,,Seid mit der Hausaufgabe schon fertig, Kinder?“
3 Meine beiden Kinder studieren an der Uni in Berlin. Ich schicke Geschenke zu
Diwali.
4. Die Blumen sind sehr bunt. Ich finde schon.
5. Ach, der Koffer ist schwer. Kannst du helfen?
C. Ergiinzen Sie die richtigen bestimmten/unbestimmten Artikel/ Negativ. [5]
1.,,Wie finden Sie d grofen Spiegel dort?*
2. Kirstin sucht e Einzelzimmer in Gottingen.
3.Das Midchensetztd  Puppeaufd __ Stuhl.
4., Gratulierst du neuen Chef?

5 Ich kann nicht schreiben. Ich habe Kugelschreiber.

D. Bilden Sie das Perfekt. [5]
1. Ich schreibe gerade eine Mail.

2. Herr Kaiser fahrt nach Amsterdam.

3. Rufst du heute deinen Chef an?

4. Thaisong studiert Kunst in Dresden.

5. Am Wochenende putzen wir unsere Schuhe.

E.Formulieren Sie die Sitze ins Imperativ um. (5]
1. Kannst du bitte die Tiir schliefen?

2. Konnt ihr heute ein bisschen ldnger arbeiten?

3. Wiederholen Sie die Sitze bitte noch einmal ?

4. Kannst du etwas langsamer sprechen?

5. Nehmen Sie ein Glas Cola, Frau Groner?

F.Ergiinzen Sie das richtige Modalverb. (5]
1. Die Schiiler die Artikel auswendig lernen. Das sagt die Lehrerin
2. Die Ampel ist rot. Das Auto warten.

[S158]Ext.-126 2



3. Im Krankenhaus man nich rauchen.
4., Mama, wir Eis essen *
- ,Nein, es ist sehr kalt , ihr 'H

Frage 4.Wortschatz
A.Was passt nicht? [5]

1. Jacke ------ Mantel----- Schuhe----- Pullover

2. Kreankenhaus------ Park ----- Schule-----Kiiche
3. kommen ----- lemen----- wohnen------ arbeiten
4. Radio----Tisch-----Handy----- Kiihlschrank

5. Paris---- London---- Berlin----- Delhi

B. Schreiben Sie das richtige Wort. [5]

1; Orangen, Bananen, Apfel sind
2. Ahmad kommt aus der Tiirkei. Seine Staatsangehﬁngkelt ist

3. Mona sucht eine als Sekretérin.
4.Ich méchte bestellen. Der Kellner bringt eine
5.Hast du ? — Ja, zwei Briider.

C. Welche Warter passen zu dem Thema? Schreiben Sie mindestens 5 Worter pro Thema!

[10]
1. Sport 2. Krankenhaus 3. Universitit 4. Ferien

Frage 5.Lesen Sie die E Mail und beantworten Sie die Fragen. [10]
Liebe Frau Meier,

heute schicke ich Thnen diese Nachricht aus Kiel.Die Konferenz hier dauert einen Tag linger und
am Donnerstag sind noch ein paar Besprechungen. So muss ich langer bleiben und kann leider
erst Freitag in der Firma zuriick sein. Bitte sagen Sie alle Termine ab,fiir Mittwoch und auch fiir
Donnerstag und notieren Sie bitte alle Anrufe.

Am Freitagnachmittag gegen 13 Uhr bin ich dann wieder im Biiro. Mein Zug ist um 12.20 Uhr
am Hauptbahnhof Diisseldorf. Zum Schluss noch eine Bitte: die Blumen in meinem Biiro
brauchen bestimmt Wasser.Konnen Sie bitte die giefen ? Danke schon.

Viele Griife aus Kiel. ( Hier ist es viel kalt und windig.)
Bis dann
C.Meyer

Geschiftsfilthrerin
Schrader GmbH, Diisseldorf

[5158]Ext.-126 3



PS : Sie kénnen mich auf dem Handy erreichen.

A.Richtig oder Falsch?

1. Die Firma heift Schrader.

2. Frau Meier ist die Schwester von C.Meyer.
3. Frau Meier ist jung.

4. Meyer kommt am Freitag zuriick.

B. Beantworten Sie.
1. Wo ist Frau Meyer zur Zeit? Warum ?
2. Was soll Frau Meier fiir Frau Meyer tun?

C. Schreiben Sie zwei Feminin Nomen aus dem Text.

QOO0
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Total No. of Questions : 5] SEAT No. :

P757

Time : 3 Hours]

[5158]Ext -127 [Total No. of Pages : 3

F.Y. B.Com.
SANSKRIT (¥%ha)

Amarbharati (smRuRet)
(2013 Pattern)

[Max. Marks :100

Instructions in Candidates:

1)  All questions are compulsory.
oA e T e o
2) Figures to the right indicate full marks.
STAIREIA 37k YUt U7 gifaan.
gy7 1) Translate each two From 'A' and 'B' sections into Marathi or

English. [20]
‘a1 it ‘T fAUTTIE T TRl HIvTATEl g W fehaT SUSG WIWTaR

<hT.

i)

SECTION - 'A' / faumr - ‘o’

T —uy gfadea: | (i Fener wafa 1)

AEE — AGIHACTETIG IO Weard: |
T I AN gFawutig ad |
QAHETUNY AshafaaaTe e | |

I - (I ITH) FEAT AhATAA
TR |

T - (FsrETo) SferrEe |

THAT TR FHYAT TSI ThIING HISHHLEH | @ caTeht
TorraTea YU TN g goad | TegedT AegiadiusaTg — Wi afg waT 98
AU ity afag | srefiem e | s wratd ud ity
T TRATEATH TUH TULeR ATa-HaT iR : JTae: T A1g agrRargai™

| Td o URER dedl: @ T deSgTHTET SHE: |

PT.O.



iil) WTFIE MU Aa! ATETAIA: | SHhAT-AhTE A4 diehiedrd: | fafag sewron
THASEAGISSI: | R T geanet At IS deRuehr fawan afie
TG, o TIRIETe: 3Td 76T WeTd | TIehHT: sheusl T erssh ot
TATGITHT ST HTay=ehal Sfeatieat |

SECTION - 'B' / faum - ‘@’
i) A0 A I9TE § 7ETe: |
g Tty ugy afe w=a 1|
T TO YT Tt g |
e’ EIETHE argHt agd wEq ||

il) TSIEd: YA: HUl AATEATY qTUSaH |
TET AT & o gHEagT Ta: |
TETHAY Fgat qog FTeIHERAT :|
uftame T ST & 9 e T |

iii) @ : wvny= T v giftees g &0 fmm |
reTE] feRfhesta ? o foh Tokaa @19 1
ATeafd wiscad T 99 JAd |
Teterfa ggHTH quite = g & 1|

wy7 2) Explain with reference to context any two from each section
'A' and 'B'. [20]

‘o’ erriur ‘@ fAWTITHS! Uehl RIVTeATE qrgiel THey TSI = .
SECTION - 'A' / fawm - ‘o’

i) faeamame wague:|

il) @™ 9 ¥a 9r ggef Tad = |

iif) f et faer v o R
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737 3)

gy 4)

797 5)

SECTION - 'B' / fqwm - ¥’
1) = faysata e s ange feom: |
i) wdau™ wgeaa™y |
iii) o q@ wrsten @=rfa fem 1)

Write a summary of the lesson “mursteaa:’
“TorvTeda:” A uteten AR forer.

OR /fera
Write a summary of the lesson ‘grigwras’
‘grftgHrem .’ an uTeTen AR forET.

Criticaly appreciate the lesson ‘swurgra’
“HUTEEH AT YIS TUAEUT .

OR /feran
Write a summary of the lesson “Agggr’
‘HggeR’ ot uteren ariw forar.

Write a short note on_any two of the following.

WTeTeTaeh! SHIVTETE gIgiak foaeeh Uiese forar.
1) =R
i) vreeTEE:
iii) weefaafioft gem
QOO
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Total No. of Questions : 5]

SEAT No. :

P758

[Total No. of Pages

[S158]Ext.-128

F.Y.B.Com. (External)
ARABIC-GEN-1

(2013 Pattern)

Time : 3 Hours] [Max. Marks :
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